PART I: SOCIAL STUDIES
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'Studx the map of Beta a a and answer

questions 1-7 © e
1. The land u¥ Beta area s10pes towards:-

~ A. South East
B. North East
C. North West
D. South West

‘;2." " Which of the followmg breeds of cattle

- is not likely to be kept in Beta are.'a"
- A. Friesian

B. Hereford

C. Jersey

D. Guensey

3. Which of the following crops is not
grown in Beta area? :
A. Pyrethrum
B. Tea
C. Cotton
D. Coffee

4. The main economic actxvxty practlsed

by the people in Beta area is:-
A. livestock keeplng

B. trading

C. crop farming

D. transport. -

5. Which of the following statements is

true according to Beta area?

A. The Eastern part of Beta area has »

~ hot and dry climate

B. South Westem part has black cotton
soil .

C. The area’is’ headed by a district
commissioner

D.

The North Western part of Betaarea

is a plain land

6.  Which means of transport can best be
used for. emergency services in Beta
area? .

A. Road transport
B. Hurnan

C. Railway transport
D. Air transport

7. The main settlement pattem of the -.

inhabitants of Beta area’ IS -
A." scattered _ ‘

B. linear o,
C. nucleated '
D. sparse .

8. Among the Nj'amwezi community, the

~ mercenaries hired to- prov1de security
were known as:- C
‘A. Wanyamphala
B. Ntemi
“C. Rugaruga
D. Vatwale -

9. Which of the following is the main

tourists attractlon along the Kenyan
coast?

A. Wildlife

B. Beach hotels

C. Sandy beaches

D. Pre-historic sites

10. How many nominated senators are in
Kenya’s Senate? -
A. 47
B. 7
C. 16
D. 12

11. Which of the following statements best
explains the major problem facing .
- regional trading blocks in Africa? -
A. Production of similar goods"
‘B. Poor transport ' .
C. Lack of common currency
" D. Insecunty

12. Who among the followmg ‘was the
~ leader of imperial B-rmsh East Afrlca
company? - e
Al Ludw1gKrapf T
B. William Macknon
~'C. Karl Peters .~
D Edward Nughey
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13.

14.

15.

16.

17. The main function of the executlve arm

‘of National government is:-

18.

The phrase explaining the dreams a
given educational institution is pIamng
to achieve is known as

A. School routine

B. National Anthem

C. School rules

D. School motto

Which chapter in the New constitution
defines the fundamental human rights?
A. Chapter four

B. Chapter six

C. Chapter eight

D. Chapter eighteen

‘Who among the following leaders were
involved in establishment of the African
socialism phylosophy?

A. Jomo Kenyatta and Paul Ngei

B. Paul Ngei and Tom Mboya.

C. Oginga Odinga and Jomo Kenyatta
D. Jomo Kenyatta and Tom Mboya

Which of the following is an

international public holiday in Kenya? ‘

A. Mashujaa day
B. Jambhuri day
C. Madaraka day
D. Labour day

A. implemnt government poilcles

- B. make laws
- C. interpret laws
-D. enforce the law

Which of the following colours in our
National flag shows land of plenty?
Green

White

Black

White

Sowy

19.

- 20.

>

Which of the following statements
below explain why the Kenya pipeline
was cosntructed in Kenya?

To reduce road accidents

To reduce damage on roads’

To control theft of oil

To enhance creation of employmient
opportunities

OOy

What was the main form of
interaction between the Agikuyu and
the Maasai during the pre-colonial
period? o

‘A. Trade

" B. Intermarriage

21.

C. War
D. Sports

Which of the following groups
comprises of the goods brought by the
Arabs during precolonial period?

A. Clothes, goid, ivory

B. Slaves, gold, ivory

C. Beads, clothes, swords

D. Ivory, glass, swords

Use the map below to answer quéstions

22 22-24

EPIC)SOCIAUSTD. 8




23.

24,
. true about the region marked mm?

D.

25.

26.

A,
B. Blowing of winds during wet

27.

73. In which of the following processes was

the lake marked O formed?
A. Down warping -

B. Faulting and sinking

C. Vulcanicity

D. Lava damming

Which of the following factors has

resulted to the emergence of desert

conditions at the part labelled x?

- A, Cold-adjacent currents

B. Parallel prevailing winds

- C. Hot and dry Harmattan winds

D. Warm adjacent currents
Which of the following statements is

A. The main rain falls during summer
B. They have fold mountains

C. They experience winter conditions
during equinoxes _
They have desert conditions

Which is the main economic activity
carried out in Fundisa near Malindi?
A. Pastoralism :

B. Fishing

C. Lumbering

D. Mining

Below are. tréditional ~weather
observation methods. Which one

indicated the oncoming of dry spell?
Hot and humid conditions

seasons

'C. Emergence of new moom

D. Trail of ants

ol

During weather observation and

recording, what time of the day is the
minimum temperature taken?

“A. 7.00am

B. Noon
C. 9.00a.m
D. 3.00pm

28

29.

30.

31.
- problem facing multi-purpose river

D.

Which among the followmg weather
instruments should b€ put in the
Stevenson screen? -

~ A. Thermometer and barometer

B. Thermometer and hygrometer-
C. Barometer and raingauge
D. Raingauge and Thermometer

')Beiow are factors influencing climate
change. Which one does not affect the

climate negatively?.
A. Deforestation

B. Irrigation farming
C. Agro-forestry
D. Industrialization

- Which of the following statements best

explains. why mercury is used In
thermometer?

A. It is a magnetic metal

B. It is clearly seen

C. It expands and contracts evenly
with temperature change

It is a rare metal

Which of the following is the main

projects in Africa? .
A. High rate of evaporation

- B. Desertification -

C. Misuse of water by surroundmg
population :

D. Siltation of dams

32. Below are soil conservation practices.

Which one is not?

A. Controlled grazing

B. Ploughing along the contours
C. Mono-cropping "

.D. Ploughing across the.slope

EPIC/SOCIAL/STD. 8



33. The process of carrying out mulching
on the bareland left between rows of
crops is known as "
A. teraccing
B. Contour farming -

C. dry farming
D. strip farming =

34. Which among the following
"~ communities belief that their
ancestors were Mwambu and Sera?
A. Luhyia e
B. Maasai
C. Kalenjin
D. Abagusii
Use the diagram below to answer question
35-36

BN T

35. The breeze shown above is known as:-
A. land breeze
B. day breeze
C. sea breeze
D. night breeze

36. Which among the following places is

not likely to experience the above"

condition?
A. Mombasa
B. Kisumu
C. Entebbe
D. Nairobi

37. The human remains found - in
archaelogical sites are commonly
known as:-

A. skulls

B. excavations
C. artefacts
D. fossils

+

- 38. Which of the following statements best

explains the reason why periods of
evolution are called stone ages?

A. The early man lived in stone caves
B. Stone was the main raw material for

tool making -

C. Stones were used to build houses
.D. Most of the history was dlscovered
' in inscribed stones

39. Who were the earliest ancestor of the
modern man?
Al Ramap_lthecus
B. Homo habillis
C. Homo erectus
D. Zinjathropus boisei

40. Below are pre-historic sites in Eastern
Africa. Which combination of sites is
found in Ethiopia? ‘

A. Laetoli-and Ismilia

‘B. Omo valley and Awasa
C. Meroe and Nuri

- D. Lalibela and Boni

'41. Peter migrated with his farmily from his

- former Kisii farm to a settlement
scheme at Mwea Tebere. The form of -
migration he practised is:- -

A. Urban to rural migration

~ B. Rural to urban migration
C. Urban to urban migration

- D. Rural to rural migration
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Use the diagram below to answer .
questions 42-43

‘l'”I"{

l'l 1!'4,'
"u,"uaf

42. The above fishing method is known

as:- .

A. trawling

B. long lining
C. purse seigning
D. net drifting

43. Which of the following statements is
not true about the fishing method
above? o »
A. It is the main fishing method in L.

Turkana :
B. It is used in deep sea fishing
C. Itis pot encouraged in Lakes
D. It is a large scale fishing method

44. Below are factors affecting population
growth. Which one leads to rapid
' population growth?
A. Emigration
B. Epidemics
C. Polygamy ‘
D. Family planning practices

45. Which of the following is true about
~ the German population structure?

It mainly consist of youth

Most people live in rural areas

There is low living standard

Most people are aged.

vowr

46. Kenya is made up of _______-
constituencies.
A. 290
B. 343
C. 47
'D. 210

s

47. Which among the following groups of
_people below consists of the Kwa
speakers only?
- A. Denkyra, Wassa, Kanuri
B. Fanti, Kwahu, Zarma
C. Ashanti, Nupe, Gas =
~ D. Fulani, Fanti, Gurma

48. The main reason for marriage in Africa

traditional communities was:-
A. for companionship

B. for procreation

C. for love

D. for social status

49. Who among the following is not a

member of the school administration?
A. Secretary ’

B. Prefects

C. Headteacher

D. Senior teacher

50. Which of the following is not a role of

- the school in community developlment?
A. Improving food production
'B. Improving the standard of living
C. Giving grants to the community
D. Enabling the learners to respect the
law

51. Below are towns in Ghana. Which one
is not._majorly known for Cocoa
growing? '

~ A. Accra
B. Takoradi
- C. Kumasi
D. L. VoltaTegion
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53.

54.

52.*Below are factors favouring growth of

a certain crop;

(i) Adequate rainfall between 1000 -
- 1500mm per annum

(ii) Well drained volcanic soils

(iii) Temperatures below 15%

Which of the following crops does well -

in the above conditions?
A. Tea

B. Coffee

C. Pyrethrum

D. Sunflower

Below are African countyies which one

‘is not a member of AU (African

Union)?

~A. Morroco

B. Z_i-mbabwe
C. TFanzania
D. Libya

Which of the following towns is not
found on cross roads?

A. Bamako

B. Njamey

C. Magadi

D. Tabora

55. Which of the following was the main

factor that led to the growth of old
Ghana kingdom?

Strong Army

Powerful clients

Centralized government

. Trans-saharan trade

oWy

56.

‘Which of the following reasons best

explains why the French signed the

Treaty of ansadugu thh Samori

Toure?

A. To create a lasting peace

B. To mark the boundarles w1th his
terrltory ;

C. To get more time for re- ogarmsmg

their army
D. They had been defeated

57 Which of the following coionlal powers

did not take part in Somaha posmon?
A. French ’
B. Germans

C. Britain

" D. Italy

58. Which of the following is not one of

59.

the Islands at the coast of Senegal taken
over by France during colonisation?
A. Goree

B. Rufisque

C. Dakar v

D. Accra o o

Kenya gained independence in 1963
with fomo Kenyatta as:- '
A. Prime minister

- B. President

60.

C. Governor
D. Chief minister

Which among the following is not one
of the western Bantus in Kenya?

A. Luhyia '

B. Abakuria

C. Abagusii

D. Luo
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A PA'RT I: RELIGIOUS EDUCATION

SECTION A

CHRISTIAN RELIGIUOS EDUCATION

61. Which statement best explains why Adam’

62.

63.

64,

65.

66.

67.

. C. Love

and Eve were chased away from the garden
of Eden?

A. They disobeyed God

B. They listened to the serpent

-C. They ate forbidden fruit

D. They were irresponsible

[‘he main reason for God to call Abraham
was to:- :

test his faith

bless all nations
- bless him ‘only

give him descentants

COwy

Which of the following is the main reason
why Moses broke the two tablets containing
the ten commandments?

A. Many people did not believe in him

- B. Hewastooold
- C. He was angered by idol worship

D. He was tempted by the devil

Among the followng miracles, which one was
not performed by prophet Elisha?

A. Raisirtlg the shunamites son

B. Making axe head float

C. Multiplying flour

D. Raising widows son

‘Who among the foilowmg is known as the
prophet of doom‘7

A. Isaiah
B. Hosea
C. Jeremiah
D. Ezekiel

Below are the books of the old testament,
Which one is not ciassn"ed as a historical
book?

A. Joshua B. Esther

C. Judges D. Proverbs

What main lesson do christians learn from
the life of Joseph and his brothers in Egypt?
A. Forgiveness B. Kindness

‘D, Justice

68.

69.

"A. Incest

Which of the following forms of sexual
misuse did Ammon, the sorof David not
commit?

B. Rape

C. Fornication D. Prostitution
Which of the following statements best
explains why David did not kill king Saul
even when he had a chance?
A. He had no skills

'B. He feared his army

© C. He feared killing annointed man of God

70.

7.

72.

C. James

D. He had no adequate weapons

Which among the tribes of Israel did Zacharia
descent from? v

A. Judah B. Benjamin

C. Joseph D. Levites

Who among the following disciples of Jesus
was not a fisherman before he was called?
A. Peter " B. Andrew

D. Levi .

Which of the following best explains why
Jesus performed few miracles in Nazareth?
A. ‘He was mocked

B. He feared being killed

 C. People did not believe in him

73.

74,

75.

76.

77,

_A. James

D. His disciples discouraged him
At the wedding at Cana of Galilee, Jesus

‘changed water to wine to:-

A. show the power of God

B. show love to all people

C. please his mother
D. let people enjoy

During the transfiguration of Jesus on M.

Olives, He was accompa.med by the following
dlsmp[es except -

B. John

C.. Peter D. Luke

Which among the following presents was not
given by-wisemen to Jesus?

A. Gold B. Myrr

C. Frankincess D. Silver

The main quality required by Jesus from one
inorder to heal him was:- ’

A. faith B. honesty

C. love D. kindness

Which one of the follawing is net a cause of
mental suffering?

A. Poverty .
B. Loss of loved one
C. Injury

D. Hereditary diseases. e
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78.

79.

Which was the main occupation of Jesus
before He began the Gospel ministry?

A. Fishing

B. Tent making

C. Farming -

D. Carpentry :

Among the following, which one was not
practised by Jesus christ?

A. Preaching

B. Healing

C. Forgiving sins
D. Baptising

80. What is the main lesson learnt from the story

81.

82.

83.

84.

oCnowp

of Jesus and the ten lepers?
A. Forg:veness of sms
B. Healing

' C. Being thankful

D. Baptising

Which statement best explains why drug
abuse is mainly discouraged?

A. ltis expensive

B. ft wastes time

C. It causes lack of discipline

D. It affects people’s health

Which one of the following cancepts of the
world led to christians not conserving the
physical environment?

Greek philosophy of material things
Roman philosophy

African concept of universe

material things
Which among the following parables teaches
christians on persistence in prayer?
A. Parable of master and servants
B. The parable of the rich young man
C. The parable of lost coin
D. Parable of widow and the judge
According to the Akamba story of creation,
the parents of the first daughters came from:-
A. heaven '

B. arock
C. antihills
D. ariver

. Which among the foliowmg events brought

people of different ages together in African
traditional society?

A. Burial ceremonies

B. Marriage ceremonies

C. .Initigtion ceremoniés

D. Ritual on reconciliation

Law of relationship between spiritual and

86.

87.

- A

88.

89.

90,

COow>

10

F

Which among the following beliefs is

common between Afncan traditional and

christianity? :

A. Belief in ressurection

B. Belief in baptism

C. Life after death

D. Belief in animal sacrifice

Below are statements.in reference to God.

Which one shows the Omnipotence of God?
God is all powerful

B. God is all knowing

C. God is everywhere -

D. God is eternal.

Which of the following represented the

presence of the Holy spirit during the day of

pentecost? '

" A. Dove

B. Fire

C. Peter

D. Strong wind

James your friend does not want to help his

parents because he feels that work makes him

dirty. Which is the best advice you can give

him?

A. Pay someone to help hlm

B. Ask his parents not to give hm'# work

C. Escape from the family

D. Work is God’s command

The main reason why christians should

practise charity is because:-

they should give what they have

they should set a good example to others
they have more riches than others

God will judge them harshly
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SECTION B:
ISLAMIC RELIGIOUS EDUCATION

Which of the following names of suratul
faatiha means “the essence of the Quraan™?
A. Faatihatul-kitaab.
-B. Ummul-kitaab.
C. Qalbul-qur-aan.
D., Sratul-hamd.
Which of the following surahs encourages
us to give small helps'to our nelghbors?
A. Suratul ikhlaas
B. Suratul maa-"uun
C. Suratul-‘asr .
D. Suratul fiil _
In which of the following surahs are the
Muslims encouraged to proclaim the favors
of Allah upon them always?
A. Suratul- falaq.
B. Suratul-fiil.
C. Suratu-dhuhaa.
 D. Suratu-nnaas. '
Which of the following is Not & teaching
found in suratul-faatiha?
A. It is the opening chapter of the
Quraart;
We should seek guidance from nonc
other than Allah.
Allah is the King of the day of
judgment.
D. Allahis the most merciful.
Which of the following statements is true.
about suratul-kaafiroun?
A. It is addressing the prophet alone
B. Itis addressing the Jews alone.
C. Itis discouraging idol worship with the
strongest words possible.
It is addressing the issue of -
monotheism alone.
66. The words and actionsof the prophet
~ (s.a.w) reported to us by his companions -
are known as
A. Hadith
B. Fighi. .
C. Qur-aan.

61.

- 62.

63,

64.

B.

C.

6S.

D.

11

67.

68.

D. Tawhiid

“ if you would rely on Allah & the birds
do, then He would have given you His
sustenance the way He gives it to the

birds™ This are words of s
A. Aliah. " B. The prophet.
C. scholars. D. teachers. .

" Which of the following terms refer to the *
_prayer performed during the drought
period?

AL Swalatul-safar

69.

700

71.

- C.

72.

.73,

A,

- D,

B. Swalatul-istisqaa.

C. ‘Swalatul-khauf

D. Swalatul-kusuuf.

Which of the following parts of the body is
not involved in the performance of

Tayammum? o
A. Righthand. B.left hand
C. face. - D.legs.

In which pillar of swalah are we obliged to
send salutations to the prophet (s.a.w)?

A. Sijdah. B. I-itidaal
C. tashahhud.  D.Rukuu.

Qabliyah and ba’adiyah prayers are
perfofmed for the following reasons except
one, which one is it? -

To spend more time in swalah.

To compensate for mistakes done in
faradh prayers.

To gain more rewards from Allah
To express our love for Allah by -
communicating toHim.

Three of the following things happen
during Leylatul gadar, which one does not?
A. Allah accepts du’a from His devotees.
B. Allah forgives a large number of
people who repent.

Angel jibril and others come down to

earth.
The prOphet leads others i in prayers.

Which of the following things never took
place during the event of Israa wal miiraaj?
A. The prophet (s.a.w) was g:ven a tour

of Jannah.

B.

D .

C.

~ B. The prophet (s.a. w) was gwen the five

daily prayers.
C. The prophet (s.aw) saw Angel Mikail.
D., The prophet (s.a.w) led other prophets
in swalah.
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- 74,

76.

77.

Al

Which of the following groups of people is
not a bonafide recipient of Zakah?

A. The way farer. B. The orphan.

C.. The reverts. D. The collectors
Which of the following is one of the
reasons why the Arab leaders refused the
message of the prophet (s.a.w)?

It was talking against their gods.

It was praising their gods.

The message was explaining to them
importance of their gods.

The message was encouraging them to
worship their gods.

The prophet (s.a.w) said; “None shall have
eaten better than the one who ate from the
sweat of his own hands.” This hadith.
teaches us on

A. Generosity, -
C. brotherhood.

B.
C.

D.

B. Co-operation.
D. Importance of work

The prophet (s.a.w) has advised us to

slaugliter _ goats for a baby girl

during Aqtiqah. ' ’
-~ A. One B. Two

C. Three D. four

78.

- D.

79.

‘Why was Abubakar (r. a) given the title of
*Assidiig™?

A. He accepted the rehcnon the first one.

B. He agcepted the story of al- Israa
without any doubts. ’

C. He accompanied the prophet (s a.w)
during Hijrah.
He was the prophet’s (5 aw) grcatest
friend.

Thedu’a™ Alhamduhilah-ilad}u aafaamy

fiima ibtalaaka wa ja’alaniy
swahiihan......:” Is said
when

A, We wake up.

80.

- . C. Hisaab.

81,

B. We see a disabled person.

C. We see something strange.

D. We enter the toilets.

The minimum amount om which Zakah is
to be paid is known as

A. Amaanah. B. Nisaab

D. haul.

Which of the following acts is a woman in
heidh allowed to perform?

A. Supplication. B. Swalah

C. Fasting D. Twawaaf

12

82.

83.

3

Which of the followmg things isnot a role -
of the masjid?

A. Offering prayers.

B. Hosting the refugees.

C. Hosting of Nikaah-

D. Storage of lost and found 1tems

Which of the following things is common

among all the Muslims in the universe?

A. The muslims names

< B. Themuslims clothing -

84.

85.

C. The direction we face when praying

D: The position we stand while in prayers

The year 10 AP is also referred to as the
year of ___in the Islamic history.
A. Year of loss.

B. Year of [sraa. .

C. Year of sorrow. v
D. Year of the great Hijrah.

Muhammad found a blind woman crossing
the road while heading to school, what was
the best thing to do?

A. Pray for her. )

B. Help her to cross the road.

. C. Great her with the Islamic greetings.

86.

7.

88.

89.

90.

D. Sympathize with the woman.

“Which of the following is the sevenfh

month of the Islamic calendar?

A. Rajab. B. Rabiul-awwal.

C. Swafar.. D. Sha’abaan. §

Which of the following attributes mean the
Most holy? S \

A. Almuumin  B.Al-quduus.

C. Assalaam. ‘D.Al-malik

The following acts nullify one’s Wudhuu

- except one, which one is it?:

A. Sleeping. B. sweating.

C. fainting _  D.Urinating

The battle of Khandaq was given this

name because of _ -

A. Being foughtin Madmah

B. Being foughtin Makkah.

C. The big trench dug around Madinah.

D. The participatian of the prophet.
(s.a.w)

In which of the following battles did the

. prophet (s.a.w) not participate?

A. Yamamah.
B. Uhud.
C. Badr.

D. Khandaq.
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Which of the followmg numbers is

706665072

A. Seven million six hundred and six
thousand five hundred and seven

B. Seventy million six hundred and six
thousand five hundred and seven

C. Seventy million six hundred and

- sixty six thousand five hundred and

seven

D. Seven million sixty six thousand
five hundred and seventy |

What is the place value of digit 9i in the
number 268.0391?

A. Thousandths

B. Tenths

C. Hundredths

D. Hundreds

thit is the value of;

24(12-8)+100 = 4,
1

A 121

B. 96

C. 25

' D. 11

4

How many groups of hundreds does the
value of digit 3 represent in the number
8537617 :

‘A 3000
B. 30
C.3
D. 300

What is the product of the G.C.D and
L.CMof12, 18 and 24?

A 78

B. 72

C. 432

'D. 216

What is the square root of 22 = in
decimal form?
A, -

C. 4+

B. 4.75
D. 22.5625

10.

11.

Es

”

A 1704 ; e
B. 2029 R
C. 3976 - S
D. 3200

| What is the value of:

| What is thc dxfferencc between the

largest and the smallest angles in the
figure below?

A. 88°
B. 69°
C. 220

D. 19¢

What is the smallest number that can

‘be added to 579521 to make it divisible

by 11?
A S B3
C.2 D. 4

(‘alculate the perimeter of the ﬁgure .

below 3 times
34m -

A 102m _ B. 110m ™

C. 306m D. 330m
. EHGMATH/STD.B




15.

. Wh‘at is the value of ;.

5(87 ~67)+48+6-117

A 137
‘B. 140

C. 148
D. 121

.- F ind 'i:hfé_?"aréa of the rectangle below

- 3(6x-5)cm

I3

_(3x}cm

(2x+17)cm

A 262¢cm2

" B. 126cm? .

C. 144cm?
D. 88cm?

. The weights of 6 girls are given below

in kilagrams‘42' 54, 60,42, 71 and 67.
What is the sum of the mean and
median? ;
A 336kg _
B. 114kg =
C. 113kg

- D. 263kg

Arrange 58%;0475,2 ,i m ascendmg
brd‘er‘.. T

: ob 31
A 58»4),0.7},5,5,4

j=c)

1
a4’
0

16

17.

18.

——— v —— -

In the figure below what is the area of
the shaded regxon" Take (r= 22 )

14cm

[  HE

A 966cm?.
B. 812cm? -

- C. 658cm?

D. 770cm?

"In the figure below XYZ isa stralght
line, XY=YW=YZ. Angle XYW =70°,
What i 18 the size of angle YWZ? .

650
'B. 35°

C. 70°
D. 110°

The pi_e chart below éhows how a
farmer used a 72 hectare farm. How
many hectares did she use on wheat?

Vegetabies ‘
A 6ha B. 60ha
D. 24ha

C. 12ha "
: EPIC/MATH/STD.S



19,
' son who is x years old, now what will
be the sum of their ages in 3 years

20.

21,

.off12rn1n '

A mother is four times as old as her

time?

A 5x+6
B. 5x
C.x+7

D. 5x+3

Kamaﬁ drove from Nairobi to Karatina
270km in 3 hours. What was his speed
inm/s? .

‘A 324m/s

B. 25m/s -
C. 90m/s
D. 18m/s

Three bells are set to ring at intervals ,
20min and 24min |

_res ctively. If they all rung together

22.

11.45am, what time Wlﬂ they tlng
together again?
A 2.15pm
B. 9.45am

C. 1.45p.m

D. 16 45am

Solve the following equation

S5x— 28_ 2x+3
3 4
8,
63
"
?
32

A metal sheet was used to construct a . ’
metallic pipe as shown below. What was
the total surface area of the metal sheet

used in square centimetres?

0.06m
12. om

A. 1056cm?

B. 5984cm?
C. 3520¢m?

- D. 2464cm?

24.

25

26.

27.

. 28.

C. 3

What is the sciuare of (l%)z'?
A 21 -
B. 78

|

13
81
D. 43

A bicycle wheel of radius 21cm
turned a distance of 40 revolutions.
What was the distance covered in
metres? -

A 5280

B.264 -

C. 2640

D 32.8

A road is represented by a length of

44c¢m on a map. What is the -actual

~ length of the road in kilometres if the
-scale used is 1:25000? -

A 11
B. 110
RTHEE

- D. 1100

~ Write 0.083 as a percentage |
A 83%.

B. 8.3%

C. 0.083%

. 83
D. Tou5 70

| o 1
Simplify: 2 (12%+24y)~ (20x+5y)

A 4x+17y
B. 12x +.17y
C. 24x-3y

D. 4x+15y



.. John bought the folIowmg 1tems from | 33. ) In the figure below NO and PQ are '

the market; » - - parallel lines. While RSis a

- Z%kg of meat at sh. 200 per Icg - transversal. Which of the following
- 3kg of sugar @ sh.110 ’ - statements from the dlagram is not
- 4loaves of bread each at sh.50 o _true‘7

- A pair of shoes at sh.1200°

- 3ylitres of juice for sh.450 _
If he paid for the items using two one

~ thousand shilling notes and two five
hundred. shlllmg notes, how much d1d

- hereceive as balance? -
A sh.680
B. sh.2860 -
C. sh.320 .
| D.sh.2580 e R i
- A candharesupplementary angles
Construct tnangle ABC in which B. a is vertically opposite toanglec "
AB = Scm BC=4cm and angle | C anglefisequaltoangleh =
CBA=100°. Draw a circle touching D d and a are complememary angles SRS
. points A, BandC Fmd the radius of v
~the circle. L ] 34 ,Ann, Carol, Shella and "I“ma shared .
g‘:; gcm A | some money Sheila got iof the .
c 2622 o - v B money,Armgot andenagot 1ofthe5'
D. 7.2cm S | | remainder. What fraction of the money e
. o R ~ did Carol get‘7 L
A rectangular piece of land has a AL
perimeter of 350m. Find its area’in | Bl
. Ares if'its w:dth is 35m ‘ 1 - T
B. 19 6Ares » o D-,%

. C. 3.75Ares 3 . | |
'D. 49A S 1 - P e
R 35. Findthe value of the angle markedt
.. A customer paxd sh.3510 for a bag of y ‘ -
cement aﬂer a 25% discount o1 the
marked price. How much was the

discount? -
A. sh.1170
B. sh.877.50
~C. sh.4680 T o A R
'D. sh.10530 - A 920 o
~ B. 162°
€. 1520

D88

5. - EPICMATHSTDS




. Work out: .

; e g
43 294 470
+ 37 220

350

A. 80t 524kg 20g
.B. 6t 63kg 920g
C. 80t 515kg 20g

D. 6t 74kg 20g

. 65% of the mdhey raiscd in aschool

harambee meeting was spend an
kitchen construction. If sh.260,000
was spent on the construction, how
much money was raised during the
harambee? I

A sh.140 000 B. sh.169 600
C. sh.546 000 D. 'sh.400 000

Find the area of the shaded region in

the figure below inem? = -
1.1m ’

7m

o —— e — . -

» 2.5m .
A 1292000cm? B. 144600¢m?
C. 11.34m? D. 16.44m?
Work t-iofm—ﬁxi;l
P TOTRONE RV T
\ |
A s
L1
B. 33
C.s
X
25
D. 23

40.

41.

2

| The’shapebé}bw shows avloavf of bread.
Find the volume of the shape

- l13em

50cm

56cm - |
A 36400cm® B. 98000cm®

C. 4928cm® D. 41328cm’
16men.can do a job in 36 days. How

_many more men are needed to finish

the job in 24days?

AR

B.-24

| 42.

- ' . D.16

The table below shows the postal rates
for sending money orders; '

- |Value of order sh. [Commission|
'|Not exceeding 1000 |sh. 72
1001 - 1500 ~ |sh.104
1501-2500 sh. 166
- |2501- 5000 sh.257
15001 - 10,000 sh.433 '}
10001 and above  .|sh.510

-Wekesa sent four money orders worth -

sh.1350, sh.2740, sh.4600 and

 sh.11050 'to four different people
- respectively. How much commission.

did he pay to the post office?

© A sh.871

43.

B. sh.1037
C. sh.1128
D. sh.1051

A textbook costs z shillings while a
school bag costs thrice the cost of the
textbook. What would be the cost of 4
textbooks and 3 school bags?

- A 4z

B 7z

C. 9z.
D. 13z |

EPIC/MATH/STD.S .



. Sharan bought a dress for sh. 860 and
sold it at sh.645. What was her,.
pcrccntage loss?
A 25%
B. 75%
- C. 50% .

D. 33. 3%

Fmd the vaiue of :
y+12y-—6.‘ '

P
Ad B 2%
D. 3%

C. 5%

. The marked price of a bed ‘was .‘ |
'sh.26000. Mutua bought it on hire |

purchase terms by paying a deposit of
sh.14000 and 17 equal monthly

. instalments of sh.900 each. How much
more than the marked price did he pay‘f /

A sh.29300

- B. sh.28550

. C. sh.3300
D. sh.2550

47

The {able below shows how a farmer :

‘dehvered hxs vegetableS’ in one week.
- The average number of bags delivered
per day was.19 bags

1 Mon

Tue | Wed | Thur | Frij Sat]

122

171320 [19] |13

How many bags of vegetables dld he

" deliver on Saturday?

c A 106 B
cis

 48.

14
D 27

Joseph borrowed sh 38000 fora penod

.‘.of two years and 3 months ata simple
. mterest of 12% p a. How much didhe

~ pay altogether"

" 49.

A sh.48260

B. sh.9120

C. sh47120 -

D. sh. 10260

The cost prlce and selling price of an -

article are in the ratio 7:9. If the selling
price is sh 1080 "What is the cost. :

~ price?
A sh.654 B. sh.840

sh.902 .

. Which is the next shape in the pattem b,é»l’ow?»

C. sh. 1240 D

. EPIC/MATH/STD.S
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Soma vifungu vifuatavyo. Vina nafasi 1 _mpaka 15. Kwa kila nafasz, umepewa manbu
manne. Jaza kila pengo kwa jibu ltfaalo zaidi. '

® e N e R W N

Wananchi Wengi wa Afrika mashariki 1 | lugha ya Kiswahili katika
mawasiliano 2 . Hivi ni kusema kwamba lugha ya Kiswahili 3 _nafasi
ya pekee katika __-~4-  yautamaduni, siasa na uchumi. | »

Wataalamu wengi 5 kwamba kwa k1a31 kikubwa lugha ni 6 cha
u_tamaduni.Ukweli huu 7 katika lugha 8 , pale ukiizungumza kwa makini
utagundua vipengele mbalimbali 9 vilasemajiwa lughahiyo 10 vma_]ltokeza
waziwazi. |

A. wélitumia B. hutumianga C. huitumia D. wanapotumia

A. wayo B.zao ‘ C.nayo D yao

A.kuna B. ina C.zina D. yana

A.masuala B. maswali C.suala D. uwanja

A.wanapokubali  B. hukubaliana  C.hukabiliana D. hukaribiana

A.maelezo ~ B. kielezo C. vielelezo D. kielelezo

A ihajidhihi}i§ha B. hujithihirisha C.hujidhihirisha . D. ulijidhihirisha

A.yenyewe o B. zenyewe . C.vyenyewe D. wenyeAwe |

A.za ufamaduhi wa B. vyautamadunivya C.vyautamaduniwa ~D. wautamadunivya

10. A.ambao B. ambayo  C.ambazo 'D. ambavyo |

Ujenzi wa reli ya 11 kutoka Mombasa hadi Nairdb‘i‘ ukikamilika
12 huduma za uchukuzi wa mizigo na 13 ‘ msongomaho

wa magari barabarani. Abiria watakaosaﬁrl Nairobi kutoka Mombasa watachukua muda wa

14 kwani ganrnoshl 15 kwa mwendo wa kllomlta 120 kwa saa.
11. A.zamani ©.  B.sasa C.kisasa D. kisiasa
~ 12. A wataboresha B. utaboresha C.itaboresha ' D. zitabore‘sha |
13. A.kupunguza B. kuimarisha C. kuongeza D. kudumisha
14. A.masaambili B. masaa nne 'C.masaamanne D. saanne
15. A litasafiri B. itasafiri C.zitasafiri = D. yatasafiri

2 ' EPIC/KISW/DAR.8



Kuanim nambari 16-30, jibu kulingana

na maaglzo ulivopewa

16.

17.

i8.

19.

20.

21.

Maneno haya hufuatana vipi katika
kamusi?
(i) shairi
(iii) shwari.

- (ii) shari
~ (iv)sheria

A (i), (), (i"V')‘;f(iii) '
B. (i), iv, (v, GiD)

- C. (i), (), (i), (iv)

D. (i), (if), (iv), (iii) -
Ukubwa wa ‘'sentensi hii ni: .
Nguo hii ni ya'mtoto-wa mzee yuke

- kile - :
B. Jiguo hili ni ia }1toto la jizee: lile
C. Guo hilini la toto la zee lile
D. Guo hili ni la jitoto la jizee lile

Chagua methali isiyo va kurekebisha
jambo mapema. _

A Ngozi ivute ingali maji.

B. Daraja lililokurusha usmbomoe

C. Kinga ni bora kuliko tiba:

D. Usipoziba ufa utajenga ukuta

Kanusha: Kuogopa kwetu kulitufaa.

A. Kutoogopa kwetu hakukutufaa.

B. Kuogopa kwetu hakukutufaa.

C. Kutokuogopa kwetu hakutufai.

D. Kuogopa kwetu hakutufai

Chagua sentensi iliyo sahihi kisarufi

A Mwanafunzi yule hangesoma
hangepita.: -

- B. Mkulima mwenyewe alituuzia .

maembc e

heshlma .

D. Mahah pale pazullkunlcfaglllwa leo |

Mkeka wake mwembamba umelowa
ma;: ‘sana. Maneno ya11yop1gwa mstari
ni:-

A. kivumishi, kitenzi

B. kiwakitishi, kivumishi

C. Kivumishi, kielezi

D. kihusishi, kielezi

‘Chagua kundi lenye sauti ghuna pekee

A. b, d,gh,dh
C. 1, th, dh, sh

B.rfy,w
D.sh, th, gh, dh

4

‘A. Kiguo hikint cha kltoto cha klZCC 1

~ C.. Wakati allpoﬁka alikaribishwa kwa_ 1

I

23.

‘alisema, Katik

“Nitaenda kwan u leo jioni” Musembi
'aa-nfa sentensi

hiiitakuwa:-
A Musembi ahsema kuwa angeend1
kwake leo

BB Musembi ahserna kuwa?ataenda B

kwake leo jioni -

C. Musembi alisema kuwa ataenda

" kwake siku hiyojioni .

- D. Musernbi alisema kuwa angeenda

24,

25.

kwake sxku hlyo _]lom T

SentenS! spi ina. klamblshl ‘kl cha

- mnamna? .
A Alikuwa aklcheza ml 1pomwona
' B. Tulivalia kitamadum 51ku ya

. Madaraka

C Kitambaa hiki klnapendeza zaidi

D. Wakivumilia mateso hayo
: watafamklwa

| Chagua klwaklllshr k'mka sentensi

ifuatayo;
Hicho ndicho klhchomshaW15h1 acheze
vizurina kutuzwa. _
" A acheze B. ndxcho
" C. hicho D. vizuri

26.

27.

A shlngom

Udodi ni pambo ambalo huvaliwa
mguuni ilhali kikuba huvaliwa:-
B. kichwani

~ C. kiunoni® D. puani
‘Plgamoyokonde ni nahau

*inayomaanisha:-

- A kubahatika B. l(u_s’.hangaa

-G kuiuta ’ D. kujitahidi

128
. kuachiliwa kwa muda kesi yake

30.

Mahpo a;oayo mshtakiwa ili:-

" inapoendelea huitwa

" A. dhamana 'B. rufaa

- C. faini- D. daawa
Tumia viambishi sahihi; »
Umati wa watu lifika katika
mkutano.
Al B. wa
C.u D. vya

Chagua nomino ya dhahania katika

sentensi hii: Mshukiwa alikuwa na

utulivu mkubwa pale kizimbani.

A. mkubwa B. utulivu

C. kizimbani D. mshukiwa
EPIC/KISW/DAR.8



Yasome makala haya kisha ujibu maswali | ,;-.:40 “

’

Bwana Matunda alisomea taaluma ya udaktari sio tu hapa nchini bali pia alienda kwa
masomo ya juu nchini Amerika. Baadaye, akaajiriwa kama daktari punde tu aliporejea humu
nchini. Kama wasemavyo wahenga, hakuna mechele usiokosa ndume. Alikuwa mievi. Lakini
kwa vile alipata jiko na alitaka kumfurahisha bibi yake, akaamua kuacha ulevi kwa iri(jl,:da. Pia
hakutaka kupata aibu ndogo ndogo na lawama nyingi ziletwazo na ugimbi. Hata hivyo, akaamua -
kutafuta pesa kwa udi na uvumba mbali na mshahara wake ambao haukuwakimu wote kulingana
na gharama ya maisha iliyokuwa ghali mno. - - o
~ Pale hospitalini, hakuwa na mamlaka ya kudhibiti dawa zile. Alifanya kazi ile kama

- msaidizi wa daktari-miongoni ili apate tajriba ya kutibu watu hapa nchini kabla ya kufikia
kiwango cha kutawazwa daktari kamili. Alipewa kazi ya kugawia wagonjwa dawa. Aliendesha
kazi ile kwa muda mrefu. “ Mwenye kovu usitaraji kapoa” wahenga walinena. Hamu ya pesa
, ilixnfanyanqga};Matunda kuingia kwenye mpango ambao haukuenda sawa na maadili ya taaluma

- yake. Alikuwa akichukua dawa hospitalini na kuziuzia watu usiku. Tlikuwa vigamu kugundua

ila hii kwa sababu ati daktari alipomwandikia mgonjwa dawa, Matunda alichukua kiasi fulani
na kumpa mgonjwa huyo dawa kidogo. Aliendelea na mtindo huo kwa muda mrefu hususan
kwa wagonjwa wasiojua kusoma ambao walikuwa wengi sana nyakati hizo. ‘

- 'Tq,kishikilia ya wahenga bado kwamba mchovya asali hachovi mara moja, alifanya -
mpango mwingine ambao ungemletea pesa zaidi na upesi. Akaanza kuchukua vyombo vya
' hospitali pamoja na dawa na kuanza kuwatibu wagonjwa usiku. Yote haya yalifaryikausiku
wakati Chausiku mkewe alikuwa nyumbani na Matunda alidanganya alikawa zarnu ya usiku
hospitalini. . o ) N | {

Kweli aligonga ndipo kwa sababu njia hiyo ilimletea fulusi kochokocho. Alijiona
mwenye pesa, akarudia hulka ya awali. Aliifanya kwa siri ili mkewe na wakuu wake wa kazi
‘wasigundue kuwa alikuwa akipiga mtindi.. S | |

' Chambilecho wahenga, siku za mwizii arubaini. Usiku mmoja wenye gizd totoro,

' Matunda alipokuwa katika kazi yake haramu mtaani, alikuwa na wateja wengi waliopan ga foleni

~ ili wahudumiwe. Kila mgonjwa akingoja zamu yake. Mara sauti ya kutisha ilisikika ikisema,

~ “Mikont juu! Ama Ayote mtangulie mbele ya haki”, R o .

’ ~Sauti ile ilikuwa na nguvu ya kuwafanya wote kunywea na kusalimu amri bila hili wala

lite. Kurunzi iliyotoa mwangaza ulio wapofusha iliwatia wasiwasi zaidi. Huenda Matunda

alikumbuka hadithiya Saulo alipokuwahj iahi kuenda Damaski kuwauna walokole! Kugeuka
wakawaona takribani askari polisi kumi na wawili wote tayari kutekeleza'wajibu wao kulingana
1a sheria za nchi. Hakuna aliyedhubutu kukaidi amri. |

’ Wote wakainua mikono, wakalala kifudifudi, wakakaguliwa mwilini, nguoni na nyweleni.
Matunda alipatikana na sindano kumi, dawa nyingi, vyombo vingine vya hospitalini na pesa
nyingi mfukoni mwake. Wdte}wakachukuliwa-«pobelahobela hadi kwenye gari la polisi hadi

‘korokoroni. Keshoye, wakapelekwa mahakamani. e ., ‘

’ . Habari hizo zilienea haraka kama moto kwenye kichaka kikavu. S redioni, si runingani
si magazetini na hata kwenye mitandao. Kesi yao ilichukua siku tatu kuamiiwa . Matunda
alipatikana na makosa chungu nzima. Hakimu aliamuru afungwe gerezani kwa muda wa miaka
sita, kucha'ﬁwa viboko ishirini na kufanya kazi ya sulubu. Wengine walitozwa faini ndogondogo

na kuachiliwa huru. Kweli mwiba wa kujidunga hauambiwipole. -



kS

31. Bwana Matunda aliajiriwa kama

32,

- 33.

34.

- Jambo 1111101nsukuma Matunda

35.

 daktari:-

A. kablaya kuenda ng ambo

B. baadayakutoka ng’ambo

C. kabla ya kumuoa Chausiku

D. akiwa masomoni nchini Amerika

Kulingana na kuifungu hiki, methali
mwenye kovu usutarajl kapoa ina
maana:-

‘A, mwenye kovu huwa anapata

uchungu daima v
B. mwenye kidonda hakosi kuumwa
hata kama kinacnekana kimepoa
C. mwenye tabia mbovu usidhani
ataiacha atairudia hata kama
anajifanya ameicha

'D. mwenye kupata Jeraha hakosx

kupata jeraha tena

Badala ya Bwana Matunda kufanyakazi

yake vizuri alijihusisha na:-

A kuchukua dawa ahzokuwa nazo
daktari

B. kuchukua kiasi fulam cha dawana
kuziuza mle hospitalini

C. kuiba dawa za wagonjwa hasa wale

wasmjua kusoma ambao wahkuwa
wengi

D. kuchukua kiasi fulani cha dawa
walizopewa wagonjwa na kuziuza
lowa watu usiku

kuingilia wizi ni:-

A. tamaayapesa

B. tamaa ya ulevi

C. tamaa ya anasa

D. kumfurahisha mkewe

Katika aya ya nne tunaarifiwa
Matunda alirudia hulka yake ya awali.
Hulka hii ilikuwa:-

‘A kuanza kuiba

B. kuanza kupigana
C, kunywa pombe

D. kupata pesa nyingi

36.

37.

38.

39.

" 40.

Ni sentensn ipi 111y0 sah1h1 kuhngana na

taarifa hii? -

A Matunda alipatwa hospxtalml na
sindano, dawa nyingina vyombo

~ vingine na pesa nyingi mfukoni

B. Matunda pamoja na wagonjwa wote
walitiwa mbaroni

C. Matunda aliwahonga askari pollsl
wasiwapeleke mahakamani

'D. Chausiku alikuwa anajua yale yote

 mumewaalikuwa akifanya

Wateja walijipanga foleniili
wahudumiwe. Huduma ilikuwa:-
. A kuuziwa pombe -
 B. kuuziwadawa

C. kupimwa magonjwa

D. kupewa matibabu .

Kulingana na taari'fa hii, ni kweli
kusema:- ’

A 111kuwa sadfa kuwa Matunda

wallfumamwa

o 'B. mke wake ndlye ahyeunda nJ amaya

kuwashika

C polisi walikuwa na habarl ya blashara'

ya Matunda

- D. Bwana Matunda ahtaka aj ullkane

zaidi

Kilichomfanya Matunda akﬁrﬁbuke

hadithi ya Saulo wa Biblia ni:- - B

A mwangaza uliotoka kwenye kurun21
na kuwapofusha '

B. kuona askari kumi na wawili -

C. sauti yakutisha i’liyosikik‘a» ’
ikiwaamrisha wainue mikono

D. kuuawa kwa wale waliojaribu
kutoroka

Methali inayolingana na taarifa hii ni:
A Yaliyopita si ndwele tugange yajayo
B. Kuishi kwingi ni kuona mengi

C. Ukiona vyaelea vimeundwa

D. Tamaa nyingi ilimuua fisi
' EPIC/KISW/DARS



Soma kisa kifuatacho kisha, ujibu maswali 41— 50

_Matokeo ya mtihani wa darasa la nane yalipotangazwa redioni saa sita kamili mchana,
Zuhura alikuwa kando ya mto Usi. Ndiyo mwanzo alimalizia kufua marundo ya nguo za wenzake
na zake. ' R .
Baada ya kumaliza kufua, alizitandaza kwenye majabali ili zikauke aliketi chini ya -
mti kupumzisha mgongo. : g L )

' Alikuwa ameketi pale chini ya mti kisha akasikia mchakacho wa miguu va mtu
" akihema kama punda aliyebebeshwa mizigo mizito. Akageuka na kutazama ulikotokea
mchakacho huo. Alikuwa ndugu yake wa kike mdogo mwenye uniri wa miaka mitano.

“Wee Kalekye,” “alitamka Zuhura. “Kwani kunia nini?” Kalekye alijaribu Kusema
akashindwa. Alikuwa bado anahema hema, miguuni kavaa viatu vya Zuhura. Vilimzidi ukubwa.-
Ndiyo maana mchakacho ule ukasikika kama wa miguu ya mtu mzima. = o

: Zuhura alivitazama viatu vyake vyeusi alivyokuwa akivitumia shuleni Igumo.
Alikuwa na juzi hii tu kavipumzisha hivi viatu. Naye siku hizi akivivaa tu siku ya kwenda kanisani
mara moja kwa juma. Sasa alipovitazama viatu vile vizuri aliona kisigino kimoja kimevunjika
_Alikereka moyeni. Sasa ataenda na nini kanisani? Fundi wa viatu alienda jongomea mwaka
mmoja uliopita na mzee Mwambi tayari alihama. Nani atamshonea kiatu hiki jamani na hakuna
fundi mwingine? Lakini Zuhura hakumwonyesha mdogo wake hisia zake za kero.

“Ni nini cha mno?” Zuhura alimwuliza Kalekye. “Matokeo! Matokeo! Alisema
Kalekye. “Kweli?” “Redio imetangaza saa hii.” Zuhura alizisomba nguo 2ake zote zilizokuwa

inaota jua la alasiri na kuzipiga peto ndani ya shuka moja kuukuu. Akamkabidhi Kalekye
mpini wasabuni, sifongo najiwe la kusugua. Akavichukua viatu vyake alivyokuwa amevivaa
Kalekye na kuvibeba mwenyewe mkononi. Wakashika njia ya kuelekea nyumbani. Walimkuta
mama tayari ameandika meza huku sima na majani ya mlenda yakiwa kando kama mboga.

' «K ula haraka mwanangu,” Mama alimwambia” “Iula haraka kisha upande bodaboda
uende shuleni uangalie matokeo.” *Sawa mama,” alijibu 7uhura. Alisali akaanza kulana mdogo
wake. Baada ya kumaliza kula, mama yake alimpa noti kongwe ya shilingi hamsini kama nauli
yabodaboda. =~ v ‘ - -

Huyoo, Zuhura akaziambua nyayo kuelekea barabara kuu. Alipotika barabarani
aliliona kundi kubwa la madereva wa bodaboda. Wote wavulana mabarubaru. Wote
walimng’ang’ania mfano wa majibwa yanayogombania mfupa. , : y

Bughudha zao zilikuwa zimefika kilele alipotokea Mzee Fumba Mume wa mke wa
marehemu fundi wa viatu. - o

“Nyinyt wahuni? Mwacheni mwanangu!” Mzee Fumba aliguruma. Naye Simba
akiguruma mcheza nani? Vijana wale wote walinywea. Alikuwa anaisukuma baiskeli yake
iliyopakwa miliaya manjano kwenye kila mlingoti na mtaimbo na kuacha mapengo ya weusl
wake wa awali hapa na pale. Hapakuwa na mlima mkubwa pale uliomiazimu kuisukuma baiskeli,
lakini uzee wake umemhini siha na nishati va kupanda baiskeli hata kwenye vilima vidogo.
Tlimbidi aisukume hata kwenye eneo tambarare. IR o _

Zuhura alimtazama mume wa mjane wa marehemu fundi wa viatu. Alikuwa
amesimama tisti na kufumbata usukani wa baiskeli yake, Kkichwani taji la mvi lilinadi hekima
na busara yake. Alizitazama mvi zake zilizotanda pia kwenye kope, ndevu, mashara fa na
masharubu. Akaikagua pua ya mzec yule. Uzee ulimboresha. Halinganiki na hivi vinyangarika
vivulana vinavyojiita dotikomu. “Unaenda wapi msichana?” Mzee Fumba alimwuliza Zuhura.
“Shuleni Igumo” “Panda baiskeli nitakupeleka.” Mzee Fumba aliwageukia madereva wa
bodaboda Yena, “Halafu nisikie tena mmemchokoza binti huyn. mtakiona cha mtema kuni.”

~ 7uhura alikalia kiti cha abiria kwenye baiskeli ya mzee Fumba huku akielekeza
miguu yake kwa upande. Zubura aliendelea Kkutafakari matokeo yatakuwa vipl,

A Nyumbani yama alikuwa amezama katika mawazo ya kina kirefu. Alifikiria jun va
mustakabali wa bintiye, 7uhura. Tumaini lake la kukwamua yeye na aila yake toka kwenye
kinamasi cha umaskini. Lakini je. matokeo hayo yatakuwaje? Isije ikawa habari ya mtungi wa
maji ya mtoni kupasukia mlangoni. Mama alisubiri. Saa saba, saa tisa, sad kumi, saa Kumina
moja, saa kumi na mbili. saa moja.... Zuhuru hajarudi. Zuhura haonekani. Giza likameza eneo

lile, wasiwasi mkubwa ukavaa mamamtu kuhusu mambo ambayo huenda yamemkumba bintive.
6 ' * EPIC/KISW/DAR.8



41.

42,

- 43.

44.

45.

Matokeo ya mtihani wa darasa la nane
yalipotangazwa Zuhura

A alikuwa nyumbani’

B. alikuwa shuleni

C. alikuwa mjini

D. alikuwa mbali nanyumba

Kilichosababisha kuhema kwa aliyeleta

ujumbe ni

A’ alikuwa na wasiwasi

B. habariza kuhuzunisha
C. mwendo wa matiti

'D. uoga wa kuenda peke yake .

- K

Mchakacho ul'izidi ule wa mtu wa

kawaida kwa sababu

A yaviatu v111vyokuwa v1k1mpwaya
miguuni

B. viatu vilikuwa havina v151g1n0

C. viatu havikuwa vyake

D. alitaka kumuudhi Zuhura kwa kuvaa

vyatu vyake

Zuhura alikereka moyoni; Hii
ilitokana na '

A. kutopatikana kwa bodaboda haraka '
' B. simandogo mama aliyoiandaa

C. habari alizozipata hazikumridhisha
D. kiatu chake kuvunjika kisigino -’

Nguo zilikuwa zinaota jua.. mwandishi

alimaanisha :

A. kukaukakwanguo | ;

B. kukamuliwa kwa nguo

C. kufuanguona kuzianua
D. kufua nguo bila sabuni

46,

- 47.

48.
 Fumba 1hkuwa
" A kumpeleka shule -

Kalekye ni mdogo wa Zuhuru. Hivyo
ba51 Zuhura hmwna -
A umbu .

B. halati
- C. mziwanda

D. mnuna

: Ni kweli kusema mama yake Zuhura
. A alisumbuliwana madereva wa

bodaboda
B. alifahamu alama Zuhura ahzozlpata

~ C. alifahamu kuhusu matokeo kuwa

shuleni

D alisaidiwa na mzee Fumba

Kuhngana na ufahamu huu nia ya mzee

B. kumsaidia Zuhura |

‘C. niya kutiliwa shaka

1 49.

D.yautubora

; Kmachodhihirisha wazi kuwa mzee
' Fumba hakuwa na nia nzuri ni

A kutoweza kuwana bodaboda

B kuwana mvi z1llzotanda kote

. klchwam ’

" C. kuwazomea rnadereva wa bodaboda
" D. kutofika kwa Zuhura

' Kichwa mwafaka ,Cha habari hii

kinaweza kuwg

~ A Umdhaniaye ndiye siye
'B. Mzee Fumbana Zuhura
'C. Zuhura na Kalekye
‘D. Mama Zuhura na mwanawe

EPIC/KISW/DARS



Which one of the fol‘iowingv\?‘aﬁt‘é‘v
products is excreted by all the
excretory organs? o

A Excesswater -

‘B. Urea
C.  Excess salts

. D.'r CarbonfdiOXide |

Which of the fol-lowmg components
. of the environment produce carbon- '

“dioxide? v o
A. Animals and water ‘

'B. Socilandair =~

- C. Watet and soil -

' D. Plants and animals -

Class four pupils collected the
following materials to mvestxgatc a

| certam component of soil:- ©
(i) " Soil v

. (i) Source of heat

. (iij) Container =

() Glass slab

.Which component of 3011 were thc o

pupils investigating?
AL Orgbmc rnatter o
B. Air -
- C Water o ,
-D. meg orgamsms |

Mueni acmdentally mixed salt and
- flour. Which of the following

e procedure can be used to- separate the :

two after adding water?
A. Filter - evaporate -
- B. Dissolve - Filter - Evaporate
C. Use a magnet - dissolve -
- evaporate -
- D. Picking - evaporation

‘Which of the following sources of

- electricity function the same way
when in use?

'A. Drycellsand dynamo

B. Solar panel and windmill

 C. - Dynamo and wind driven turbines

D Petrol generator and solar panel

- Head

- Which b}ood vessel will carry

‘Towpy

- ~cxrculatory system -

A Lungs
‘ | Heart

poisonous blood to the heart if a
person is bitten by a p01sonous -
snake? - . a

AW
- B.°X
S C Z

D. Y

7. ”A class seven pupd had the followmg -

~signs and symptoms,.

o : (i) Pale skin

v (u) Pot belly

1 (iii) Wasted muscles

(iv) Vomitting dzarrhoea

- Which of the following diet was the
,__,osAt appropnate for the pupil to
- feed on?
A Kales, groundnuts beans
B. Liver, kidney, spinach

}

C. Oranges pawpaw, lemon

D. Cashewnuts grecn grams beans _‘

Which of the follo’wing‘ does not.

- require the force that opposes
. motion? ’

Sharpcnmg a panga
Closing the window
Walkingup a hill

‘ ertmg on the chalkboard

EIPC/SCIE/STD.8
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S The followmg are charactensttcs of
' SOmef Stages of HIV 1nfecnon SRR

(z) Test negatzve P

-~

Wthh oftheabove charactenstlcs

“shows.a person who is in ‘the second
- stage of HIV: mfcctlon‘? :
AL (Dand (i) '
CBE @) and (iii).

C i‘:-.,_(.iii)vand?(i."\i), -
D ()and(iv)

‘fWhmh of the followmg 1s away of 1§
maintaining simple. tools that are used
“indriving out. nails? SR

A Sharpemng

“B.. Storing them mahole .
- C.. Cleamng after use

o b Usmg them for the flght _]Ob

11
- ofa certam part ofa plant

o thch funcnon is demonstrated b 2 |
the activity above? . iU
‘A Transpiration:’

B Absorption

The dlagram below shows a functxon

Basan e
————Coloured water S

C. Transportation

D. Foodstorage .

12. Which of the followmg statements .

. aboutsound a and hght: is. correct"
o Both ' SR

._U.,.,_.o; ®p.

“can nottravel in a’ocnd
“travels in all directions
" can not be reflected
- rcqu:re a medlum of transfer

(i zz) Test posu‘rve j B
(iv) Caninfect. others -

= 7@W Cut teaf ‘ "

. . D.09T%

. »thchf‘of thc: followmgffls ot true
- - about the. above tooth? The tooth
AT “hasa sharp cuttmg vedge

>>>>>>>

o B ;smﬁd mtearmg
. C/ hason 'y‘foneroot .
D : art of the decxduous set

ich one of the followmg o
' percentage of thi ‘clomposmon of air
" isnot needed bylang thlngs‘?

A 78%
.. B ZI% i SR
BN O 1 X 03% o

16. _;,Whlch one of the followmg farm
. animals is correctly 'At'ched thh its
' .ammai produce” G
-A.  Sheep - Wool and mllk
B Goats - Mutton and mllk
C " Cattle - Beef and mohalr .
D Poultry Eggs and wooI




17,
. statements is correct about
- reproduction in human beings?

Which one of the following

A. Thedisc shaped organ helps in
' exchange of gases

" B. The mass of cells is known as the ’

zygote

~.C." Implantation takes placein the

oviduct

 D. The ambilical cord protects the

18,

foetus from shock

The table below shoWs the amount of - -

water that was retamed by dxfferent
soils - : o

Sonlsarnplc W A K} A

Watet r‘etained BOcm? 1:5cm3s 10cm’

N Which sonl is represented by the set

19,3

up below‘7 v

Drained water

thch one of the followmg
statement is correct about the child’s
immunisation schedule? - '

A Tuberculosis vaccine is givenon

~ the left upper arm

B. Thelast DPTis glven on the 9th
month

C. The first polio vaccine is ngen at

~ the 6th week - |

D. DPT vaccine is glven on the thlgh ‘

20.

21.

preserving food are both modern and

The followir"xg are safety meesur‘es

about lightning. Which one is not?

A. Fitting houses with lightning
arrestors - :
“Avoid touchin g swntches thh wet
hands %

B
- C. Avoid sheltermg under tall trees ,
D. Donot lean on the walls when 1t ‘

is ramlng

The followmg are methods of
preserving food; '

(i) Proper storage

(ii) Use of honey

(iii) Use of low temperature
(iv) Salting

Which of the above methods of

tradmonal"
A. (i) and (iin)
B. (iii) and (iv)

-C. (ii)and (iv)

. D. f(i)Only

22,

The dlagram below represents a food '
© chain;

© Nectar abuuerﬂy—) Chameleon
- Which one of the following will not -

hawks

- happen, if all chamelions are kxlled"’

" A Hawks will decrease o
" B. Nectar will increase

~C. Butterflies will increase

23,

| D. Nectar will decrease

A Scxence teacher came to class with
the followmg materials;

(i) Candle

(i) String”
(iii) Cardboards
(iv) Matchbox

~ Which of the following actwmes was

the teacher demonstrating?

A. Natural sources of light

B. <Light travelsin all directions
C. Lighttravelsin a straight line -

D. Reflection of light

EIPC/SCIE/STD.8
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24

A

) Mathenge -
- Wanjuki

_ Esther

Which one of the following

‘statements about gases is not

correct? Gases _ -
- donot have a definite size
B. are poor conductors of heat

~'C. expand most when heated
~'D. are good conductors of heat

25. During a Science lesson four pupils

- collected the following materials to

construct’ dlfferent weather

- big plastic bottle,

- A glass bottle, basin,
" inner tube ofa
biropen, manilla paper
- Aglass bottle, inner -

tube of a biro pen,
manilla paper,
. cellotape - v
Which pupll was to make an air
thermometer? ' »

A Mathenge

- 26.

27.

'B. Wanjuki -

C. Esther
D. Omondi -

Which one of the following methods

" of conserving water helps in reducing.
- water pollution? :
Turning off the taps when not in'

A
- use »
Harvesting rain water

base of growing crops B
.. Boiling water and cooling the’
steam '

B.
 C. Spreading crop remains on the
D

The following are modes of

movement in small ammals except'
stinging

 hopping -

“crawling

- walking

Do we.

-

instruments;
Omondi - metal sheets, pieces
’ - ofwood, biropen.cap
a small plastic bottle ,

‘manila paper,cellotape

28

. 30.

A
_B. Decreasmg the diameter of the

Plants that grow in wet areas have

hairs on the upper surface, the

- function of the hairs is to

A reflect heat and light o
B. trap moisture from the hair
C. keep the stomata open _ '

D. reduce the rate of transplratloﬁ

' The dlagrarn below shows a tank that
. contains water with holes at dlfferent

positions; - -~

- Which one of the following can make

hole P to jet out water the shortest

distance?
‘Putting a lid at the top of the tank

hole

- C. Putting thetank on a hlgher

. ground

- D.- Closing the hole at the bottom

Which one of the following animal

- feeds helps the animals in growth and
_ repairing worn out tissues? :

A. Lucern and salt licks

© B. Saltlicks and sunflower seeds»

C. ‘Wheat bran and napier grass

" D. Glycmeand lucern

31,

Wthh one of the fo}lowmg states of

matter are correctly grouped

according to their characteristics?
Definite volume Definite mass

‘A Water vapour Stone
B. Cooking oil Saw dust
- C. Steam , Tooth paste
D. -Nitrogen Oxygen
'EIPC/SCIE/STD.8



. 32 W}nch of the followmg consists of

foods that build and strengthen our.
,vlmmumty” o
A Pawpaw, mango watermelon
B. Kales, beans, oats :
~ C. Mutton, pork, beef
D. Milk, méiZe, m‘iue;'

33, _Whnch of the following effects of
- drug abuse are correctly cla551ﬁed
into soc1al and healt effects? .

Health el‘fects o Soclalel’fects
A.Truancy - ~ Rape
. B. Poor health of the unborn - Death
- C. Death ’

' D.Péor concentr-ation

34, The dxagram below shows movement
o of hcat in gases, : :
R - — Smoking. mg ’

' E\:\ Smoke
wa Nandle

What is the function of the smoke?
A To mcrease the speed of air -
- movement - Lo :

To make the air v:srble

“To warm the air EE AR

Reduce the rate of burnmg the
’ candle : :

'.Uo-sﬁ.:

35 ’Wthh one of the followmg is the
A. Using fireflies

'B. Usingcandles . L
C. Opening wmdows L
'D. Usmgﬁre I

v Loss of memory |
~ Marital conflicts K

Convectionbok 1

_ best natural way of hghtmg a house? b

39.

.\’

- weeds; ‘ S
(i) Thorns on leaves and stem

- ground :
(iii) Purple ﬂowers
" (iv) Fibrous roots -

-~ wandering jew?.

A ()and(iv)

B. ()and (i)
C. ()and (i) . -
D. (ii)and (iv) =~ =

37.
does not affect the rate at which a
111qu1d evaporates‘? :
A "Movmg air- B
Amount of the hquxd
’ Tcmperature _
. - Surface area

= o® :é*

- 38.
. clouds;
o ® ngh in the sky
S (i) 'Rounded masses
“(iii) Dark grey ’
. (iv) Have an zrregular shape
Which' characterlstlcs would make a

A (111) and (w)

'B. )] Only %
o (ii) only
D. (1) and (u)

Whlch one of the followmg \

" ‘proccsses changes ice cubes mto
water vapour‘? '

‘Melting. - freezing
Melting - evaporation

_ Freezing - condensation

N T‘Condensatton freezing

powp

6 . . EIPC/SCIE/STDS

36 The followmg are characterlstxcs of

(ii) Fleshy stem that grows in-. the ERN

Which charactenshcs dcscrlbes a f ‘

Which one of the foblllbi{'ing factors

" The following are 'charaétcristics, G

good scientist put on light clothes? n




-~

40

41,

Punty saw an ammai that had scales -t
- and laid eggs that were f¢mhsed The~|

amrna} is hkely to be a

A~ lizard
B frog -
Wthh of the foilowmg matena]s can 1

~ not help i in fermmg a shadow’?
A Piece of wood

| ; }.’B Stones

C. Glass (
D Tank

- A Thorns

43,

B. Ciay,soll;
~C. Softboard

D.- Rubberband |
Whlch of the fol!owmg mternal

hvestock‘parasnes attack the -

v mtestlnes only”

o | iA‘ HGOkWanS v»

B. leerﬂukes

- C. Roundworms ‘

D. Tapcwonns '

Which one of the foilowmg levers

tunctlon the same way whén they are

- inuse?

U0wr:

Wheelbarrow and spade
Crowbar and clawhammer
~ Spade and crowbar
Wheelban'ow and claw hammer

45 The followmg are ways of controlhng
'_fsoﬂ erosion; Ca '
e @) Mulchzng |
o (i1) P_Ia(ztmg cover crops
- (43} Building porous-dams:
iv) Terracmg ‘

3
P

e Wh:ch of the above methods can

A - | 46,
. When modellmg the solar system all e

the followmg materials canbe used.
»Whlch one can not‘7 St

B,
B Strmgs
-b.

o control ‘soil erosion where soil is
- caried iff thin uniform layers?

A ()
B (v)
C. (i)
D, (m)

The dlagram beiow represents a beam _

E ’balance

- thch of the followmg materlals is

not needed in making the above

: mstrument‘? .
A Plunk ofwood o

Tms of dxfferent maierxals

_ EIPC/SCIE/STD.3



o A (1) and (n)

47 The followmg are descrtptlons of

‘some methods of grazmg,

() animals move freely

(i) Easy to. collect manire ‘

(iii) Cantrols both internal and
external parasztes S

(iv) Expenszve to start and mamtam

Wthh descnptxons refer 10 a method
that can be used m areas where land is:

limlted‘7

. (ii)yand Gv)
D. (1,13).-arld‘(»lV) S

. The dxagram beiow represents a
cei:tam propcrty of hght

. RU;Q('

* Which of the following activities
- does not use the prmcxple of thc

. - above gxperunent‘?

A Formation of lmages L _

- B. Aswimming pooi appeanng ‘

shallow T
C. A coinin water appearmg raxsed

D. A poolof water appearing on a

" tarmac road

—---—Water R B

. . G C R . -
. . . . - .

: '  49. The foﬂowmg are 31gns of a certam
o rwater bome dlsease

v (z) Violent dzqrrohea o

_ :f:(ii) Vomiting

50,

(iii) Dehydratzon

:g_»ovcrcrowded places '
covanng pitlatrines =

A
B
S C taking a balanced diet '
D. _-d’r—ammg stagnant water -

q}Two pupxls werc balancmg ona see

. sawas shown below ‘

‘It is true to say that -

A ,‘Kim is twice heavier than Mercyv
© B. - both pupils are of the samje |

weight
C. Mercy istwice heav:cr than Kim

. D. thesee saw is.not balancing -

EIPC/SCIE/STD.S
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choqse the BEST alternative from the choices g' iven,

The i 1ncreasmg rate of crimesisa problem that is affectmg not oniy thc developmg countnes o

1 those that ___ 2 developed These crimes:. Tange _ theft, prostltutzon and killmg ‘

Hijacking and kidnapping are 4 sophssncated crimes. It is ewdent that these pmblems are

rampaht in the urban areas S ___ tohigh populanon Many people ’ 6t the .town

_ centres to seareh for job Opportimiti’es 7 areveryrare nowadays

‘ Generaliy, crlmes have affected all nations of the world inone way or 8 , for inStance _

the economies of countrxes 9 strained because Iarge sums ‘of money has tobe allocated to

- feed and 10 pnsoners snlI as__ vll _to supplement the. work of courts many people'

have 12 what they proudly call mob JuSthC This simply means 1mphct1ng pumshment onthe

spot to the culpritor ___ 13 and it 1nvoives serious beatmg, 14 v or muuiatmg the

culprits bedy p’arts. 15 it IS not a recommended way of handhng culpnts most people bil nd ‘

it hard to avoid. .

“butalso’ ‘nevertheless™ more so

1. A even though “B. c. D |

2. A has alreadj/ B. arealready C was _é‘lréady . ‘D.. 'hai)’e’already

3. A ﬁnm; T B off Cibeween D

4. A most ~ B. more ' C many D majonty " |
5. A. because B. 'aéaresult : C ’duézs’ - D drawn s

o s | T _ C stay : Dgo

7. A when  B. where . c which Do owhose

8. A. another -~ B. other ’ C any other " }I:)‘.jfeitli‘er’:i e
-9. , A has B s | ~.C. have D were |

10. A. accommodate B accomodate’ C. accomondate D. acdﬁ?mcdate o
11. A, when B. so. | C. how D i .

‘12. A, steppedup B stepped down  C. stepped from' , D steppéd ’0’\?@;
13, A inhocent ‘ B. ‘pﬁsoher, | C. thief D suspect
14. A. leanching - B. Iynchieng . C lynching Dlmchmg | |
15. A Sothat ~ B. Though C. Eventually . D. resuling

. 1



- started crying. +

* after waking up.

"53,

-

':than she: woke up: .
17.
. class.
~A: -~ Qther puprls
: :‘ ’ “active assam -
. Other pupils in the ciass but not Sam =

B
- areactive. -
C. Neither Sam nor the other puplls m the o
D

ass are not as

" class are active v
. Sam is just asactive: lxke the otha‘ puplls. i
mtheclass' '

to fill in- tlze blank spacés

18. Hardly hadthebusleft =~ - -
A. that it collided with an mcormng car.

B. thanitcollided mthanoncommgcar ,

‘C. whenitcollided withran onggmmgcaré.

D. andit collided with '

19. Shebought ‘ .
~'an inexpensive,ugly, big * -
abig, inexpensive,ugly - . .
an ugly, big, i mexpensweig
anmexpenswe big, ugly S

TOwp

For question 20' \chan 3 tlze pivén sentence'
into reported s, wJggeth REN SR
20.  “We will visit the medla reporters today,”,
the teacher said. . }
~A. The teacher said that tﬁey would visit
the media reporters today.
B. The teacher said that they will visit the
media reporters thatday. =
C. The tcacher said that we w1i} visitthe
‘media’ 1eporters today. =
D.  The teacher'said that they would visit
the med1a reporters that day.

“The baby had: not wokerr up when she_ B SR

_ The baby. crled as she jas ak'ng up |

“No sooner had'the baby started-; crymgf e

; in guesaoris 21»22

S 21 'iAfter the mvest1gat10n ‘the suspect was

“ 'fOund.gB.llt.Y of the offen(:e ‘
AL vreSponsxble ’

1 22. 1eiwes chanengmg for the team to accept

""Qefea _
‘B.. victory
~C. losing
D mockery :

. F or guesttons 23-24, choose the best Qltrasal |
o ‘-,verbs 10 rgglage the underlmed words .

23 It was dlfﬁcult for the two pupils to become

~ friends again aﬁer their break up.
A makeup ' B. makefor
C make oﬁ' o Do make out -

It took long for the post electlon v1oIence
vxctlms to recover,ﬁ:' n the calamity, -
A gt throught el
'B. ‘gettogether
- C.getaway .-
D getover .

e 'For guesuon 25, choose tlze bes

: Wnt of the ggv_n phrases toAmake a
sensible garagragh SR ’
L 25 (1} tlu.sz wzll rqfresh them S0 fhat they are’

. able to concentrate better durmg '
Studies— o

: (u) and how the actzvttxes szI aﬁ’ect Ihezr
pet;formance in class '

o (m) it is important for puptls tohave some -

" time to rest: and- relax e
(iv) However they nee ”iknow which
-activities to engange m durmg this
leisure time : .'
(v} they should also knaw haw much tzme .
 to spend on the lezsure ; ‘
A (i), (i), @) ), (i)
By, @), ai), (), (v)
C. (1), (), (v), (), (i)
D (V) (ii), (l} (W) (m)
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- and especially my SUPporters assured ‘me that I will make it. - Lo

, 26. . The writer had been hlghl)' celebrated

Read the gassage below and answer . guestzons 26 38

Itis sald that every dog has its own day, and my day had corne Iwas to represent m‘y..schooifri‘

in a county level athletics competition that we had been longing for. | wasnowa celebrlty inmycounty,

“having taken the runners-up position and won severally. Now, I'was sure that I would win wnth flying .l
colours, as ] had trained hard everyday from five o’clock in the morning. I ran for at least ten kilometers.~ e b

daily. My parents had been a great inspiration to me because they had always encouraged me: Alﬂ'lough;-; FERREN ¢

they always told me that nothing good comes ‘easily and Thadto work hard: tnorder to succeed. -

: C “Twill not let them down,” I said to myself. Lhad pracucod enough that mommg At around;., T
nine o’clock that morning, the wholefield was filed up with people both part:cxpants and Spectators A
~_voice rang over loudspeaker instructing the participants to go to their respectwe areas. Personallyl was = i
representing my school in the marathon race, which most people. feared for it was not easy to- ﬁmsh R

when I heard that voice, my heart pounded so hard that I was afraid. I deﬁnate!y knew that spectators
cheered as the marathon competitors moved to the starting pomt The voxces I heard ﬁ'om the spectators o

The winner of the race would represent the nanon in the mtematlonal marathon abroad I was. '

determined to be the winner though I never knew how oompeutxve my competxtors were. I lookedf;j S B
ﬂilldf;.":j" S
witha thunderous applause -as we got into our positions. ‘Soon, the gun went off and the race wason.

forward to travellmg abroad after bemg declared the winner. Now, the crowds in the stands we

Already, Ihad my strategy. well planned Tt was a three piece plan I had, to start fast and make e‘verybody:; |
tire themselves out. Secondly, I would slow down to make in breath and prepare for the ﬁnal }ap, the .
home stretch. Iplanned to sprint energeticaly to finish i in the first position. I adhered to'my plan

Running as fast as a deer, other compemors panted ‘and puffed as they tried to keep up wzth ENE I
me as soon as the race began. At the mlddle of race, I slowed down something that made them. think that
I was worn out: They shot past me and to their Supnse 1 was not putting any effortto overcome theme . =~
However in thefinal lap, 1 Ieaped forward w1th the renewed ‘energy. | went past the tired athletes with ™~ S

a high speed. Soon, I broke the finishing tape with my arms stretched out. It was clear that fwasthe.

winner. Fans and spectators shouted with joy all over the stadxum I was declared the best runner of thea Sk

year My dreams had all come true.

because:- : e ;pas,sage mean:~

A, hisparents had always enoomagedbl'ng‘;b < .A. toanticipate.

B. hehad already won several times. - | * - ‘ B. tolosepatience.

C. - he was chosen to represent his school |} . C. tobetome conscious..
 intherace. = B E ¢ to become excited..

D. he wasthe only one capabie of. kS I

participating n the race. : 29." -’.The marathon race was feared by many A

: . people because:-
27. The writer wassure of wmnmg probably

- ~A. itwas notapopular game.
because:- 'B. onlyafew peopletook partin: it;
A, ofthe great msplratlon ﬁ'om hxs parents . C. itwashardto finish the race. -
scared him. ‘ " D. '

e , it was hlghly compctmve
B. he had been sure of winning. - ,
C. hehad been training hard every

morning.
D. henever wanted to let down his

colleagues. !

8 The words Qg ‘gg ﬁor as used m the‘;;j

7 cmosms




33, . ‘Though the wrxter was determmed to Wm}’-”

“therace:-

vij"’betterthanhun S

- s 134. v
B to'start ata fast motxon to make thc 3‘ = B

o D to spnnt energetlcally‘m the f nal lap. e

. o A had only come to. be spectators
-0 B had_cqme m watch whxie others: were

B
. C. heknewthe other parumpants w:!l ot
: |

R .}~'thcy'broke'1nto aﬁght
. B. theydemanded for change.

~C. theycheered vigorously.
o D the; uttered mockmg words.

B
5 C “he. ‘was not ready- to, partnctpatemthe
D

: ‘The wnters threc plece plan mcluded the 3 :
. »follcwmg exccpt - : o
; A. _to run at a fast speed throughout thevi’- K

C. “to run slowly after a whlle to take m

ere | }eparnmpaats of the race ,,,nly” -
D were.axtractedv by the voice that

A, ‘:S ‘}.he had.always becn wmnmg m the pas’t ‘b
.~ his parents had told him to work hardvj., ;
- to achieve his goal. - : -

. be able to f msh the- race .

A. he never expected to travei abroad o B
he never knew how competiuve. hls e
oompetltors were, e

Fromt ag s%_not true to say that:-
“A. th _'wmer realised his dream.
: ble to overcome his

- raoe abroad

‘he knew that h1s'compet;torswe - oyed:wlth the

ad lann;d»‘well’ifdf'the race.

. .race.
. others exhausted

N ’breath and relax.
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Bveryone is. becommg concemed about the rep:d mcrease inthe nnmber oﬁehﬁ;iren -Abemg borne; ;
every year In our nation ahnost four hundred thouﬁand chxldren are bom anm&ﬁ :

.whole nanon

Eve’y ten years, our 8°"°"m'ﬁ°ﬂf orgamzes a populanon census, s, its aim bemgmknw the:numt
of people in the country,thexr age,sex level of edueanon and other essentla! mfanﬂmcm
‘government to plan.for i 1ts citizens, Though populanon was. not ashi gh as;;t xs*todayr pbpmanon‘has

*T!nszheips the .

increased at an zilatfmng rate The few resources that are avmlable in the counny mdet

-areas, cannot support the peop}e As: a result most pgop;e ﬁnd -

search for _}Obs, whnch are rare and notmdxly avallabie L A

m our nation. Most young people do not hke domg farmmg but hkc doxng wh:te eoilar jobs whach are'-e*

very few and scarce Instead of mov

i congesntmgthemselvcs m'townsf _as thxs 1eads to mcrease in cnmem such as ﬂ:eﬁ""ffor robbcry, Prostnunon

» Iack of adequate housmg and»other socnal probierns

’ though many chlldren a.re born every -}
 year, onone is conccmed } '
’ onlya few chxldren are bom every year

B
C. -the rapxd mcreasemnmnbcrofc}nldren 1
~ bomnevery year] has become e
‘everyone’sconcern.. S | €
the numberof c}uldrcn bOm every year . D

ﬂ_jhas not 1nmased

.’ 40.. From the passage, the number of chlldren o
* bomn every year is:- ;' cEE

A. almost 400 000
“more than 400 000
-not less than 400, 000
appmxxmately 400 000

- A

B.
C
D.

- peoplp m the natxon :

: to children,” 4 .

L I-hgh standards of lmng o
2 Makmg 1t necessm'y to conduct Census.

can'ymg out a nq




45,

: C the govei'nment never planned for 1ts o areas. S .
people o . . B.is attnbuted to lackoffand »_
: D popuIatwn wasnotashzghasn is today - C. »v_!eads to Iaek of development inthe
44, Whlch statement is not correct? . - ‘
S : . ¢ D. is not comrnon every year
AL Today, most people move to towns o o
! ‘than inthe past. ’ 49. The writer isvadifi'Si_rig people to:-
B. Jobs have become scarce today , c Vo o
C. ‘Many pec e Who move to N eé- | »A. move to towns asrural areas are
S l}’p dp . _ g 1 o unproductxve '
ernp oyedreasily. : S R - 1gnore agnculture and do whlte collar
D. The avaﬂable resources carmot sustam;-‘ oo 'jobs
, | | C goanddo meamngful pro;ects in the
_'The phrase agnculture has remamed thef._.,, L rural areae . o
' -D;*'cornmxtc mes'to-earn income. -
}backboae of our country s economy I S o o
' zmphesthat = Fe 50 Th ‘ t h ‘I tdbcvi th foll
- A. méany people do not hke agnculture ewn er has listed down the following
SR T PR .ways of nnpmving agnculture in the rural
B ,manypeoplere]yonagnculture B
T e B " @reas. thchisnotV -
G _agnculmrehas limited beneﬁts _ - qA Pto d a] rtt th
D everypnemtheoounu'ydocsamculmre* : Vi mg e supp ortto &
"The wnter says that young peopie ;

46

R .. are bom and brought up in towns g
. ;Fembrace farzmng as well las domg wlutea

47T,

. - The writer says‘that in the past - :'i‘ B
AL pOpulanon was hxgh asitis today R
B, essential needs were rapxdly cateted for '

‘_hke domg faumng in the rural areas

collar Jobs
V,’hke bemgemployedthandomg fanmng.», :

: Accordmg to the passage it is not easy tori.‘.b'* R

" do business in the mralareas because.

By

©as electnclty and water , o
_most people hve in the urban areas

f.}-‘busmess v e
:‘.pQOpIc get dxsoouraged easxly

hey lack the necessary rie cessmes 8uch;f e

they are not gooa sntes for domg v ﬂ ‘ .

8. The problem of fo d 5 rtage in most parts
o of our country “ SR :
. :”A‘.; ‘ causes fast developmem m the gnven
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- COMPOSITION
“You have 40 minuies to write yovur composition

Below is the begmnmg of a story. Write and complete the story in your own words makmg it as.
interesting as poss:ble v

v I was about to reach home when I heard my best frzend callmg me ﬁom
behind. He sounded very happy SO ettt .
7
+
- s .
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Umepewa dakika 40 kuandika insha yako. | o

Andika insha i xs:yopungua ukurasa mmoja na nusu uklfuata maagizo uhyopewa.
Malizia insha yako kwa maneno yafuatayo'

................................................................... ooneenilimshukuru Mungu kwa dhati kwa

kuninusuru kutokana na hali hiyo.

PR
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EPIC EXAM 2016
STANDARD EIGHT

MARKING SCHEME

(e

EPIC )

AMS 004))

ENGLISH

KISWATIILI | MATHS SCIENCE | SOCIAL STUDIES |
. B I C . C© T A . C | 51D
2. D 7 D 2. A 27D 2. B 52. C
3. A 3B ) 3. C 3 A 53 A
i B 4 A i B S e 54 C
5. C 5. B 5. C 5 C 5 D 55. C
6. D 6. D 6. B 6 D 6 A 56, C
7. C 7. C 7. C 7. D 7. C 57. B
8. A 8. A 8. D 8§ B 8 C 58 D
9. C 9. C 9. B 9. C 9. C 59. A
0. B 10, D 10. B 0. D 0. C 6. D
il. D 1. C . C TR . A CR.E LR.E
2. A 2. B 2. A 2. B 2. C 61, A
3. D 3. A 3. B 3. C 3 D 62. B
14, C 14 D 4. C 4. D 4. A 6. C
5. B 5. A 5. D 5. D 5. B 64, D
6. C 6. D 6. A 16. B 16, D 65. B
7. D 7. C 7. B 7. B 7. A 66. D
18. B T 18, C 8. B 18 A 67. A
A 9. B 9. A 19. D 9. B 68. D
20, D 20, A 20, B 20, B 200 A 69. C
21, C 1. ¢ 21, C 21 D 2. C | 700 Al
22. B 22. A 22. D 2. B 2D | 7. D
23. A 23, D 23 A 23. C 23, A 2. C
24. D 34 D 24, B 24, B 24, C 73. A
25, C 25 C 25, D 25. B 25 D 74, D]
26. B 26. B 6. C 26. B 36, C 75, D]
27. C 27 D 27. B 27. A 27 A 76 A
28, A 28 A 28. D | 28 C 28. B 77. C
29. C 29. C 29. C 29. B 29,7 C 78. D
30. B 30 B 30. A 30, D 30. C. 79. D
3. D 35T B 37, D 37 B 3. D | 80 ¢C
32 C 33, C 32. B 32, A 32 B 8. D
33 B 33 D 33. D 33, D 35, C 82. A
34, A 34 A 34, A 34, B 3. A | 8. D
35. C 35, C 35, B 35. C 350 C "84 B
36. D 36. B 36. C 36, D 36. C 85. B
37. B 37. D 37. D 37 B 37. D | 8. ¢
58. A 38, C 38. B 38, D 38. B | 87 A
390 C 39. A 39. C 390 B 39. B 88. B
40. D 40. D 0. B a0, A 40, B 8. D
47 B 4. D At A 41, C 47 D 9. A
a2 A 2. C 7 C 2. D 2 A
43 D 3. A 43, D 3. A 53 A
44 C 4D a4 A 44 B 49 C
45 B 45 A 5. B 5. C 5. D
6. D 46, D 46 C 6. D a6 A
7 A 47 C i7. D 47 C 47 C
8. C 48, C 8 A a8 A 43 B
49 C 4. D 9. A 9. B 39 A
50. B 50, A 50, A 500 C 50 C

NB: Teachers are requesied to scrutinize

this mark

ing scheme before use, it is worth.




